nautel

Field Modification
FM22007

VS2.5 (3 PS):
Replacing UG69*
and NAPS43* with
UG132 and NAPS58A

Issue 1.1 .o 07 March 2025

Nautel Limited

10089 Peggy's Cove Road,

Hackett's Cove, NS, Canada B3Z 3J4

T.877 6 nautel (628835) or +1.902.823.2233
F.+1.902.823.3183 info@nautel.com

U.S. customers please contact:

Nautel Inc.

201 Target Industrial Circle, Bangor ME 04401
T.877 6 nautel (628835) or +1.207.947.8200
F.+1.207.947.3693 info@nautel.com

e-mail: support@nautel.com
www.nautel.com

© Copyright 2025 NAUTEL. All rights reserved.






FM22007 - VS2.5 (3 PS): Replacing UG69* and

NAPS43* with UG132 and NAPS58A
FIELD MODIFICATION

1 INTRODUCTION

This document provides instructions for customers to replace the three UG69* Power Supply
Modules and NAPS43* Power Supply Distribution PWB with two UG132 Power Supply
Modules and NAPS58A Power Supply Distribution PWB in a VS2.5 transmitter.

1.1 Reason for Modification
The UG69* Power Supply Module is no longer available. This modification allows the customer
to use a UG132 Power Supply Module in its place.

NOTE
The NAPS43* Power Supply Distribution PWB is not compatible with the UG132 Power
Supply Module. The NAPS43* is replaced with NAPS58A.

1.2 Equipment Affected

This procedure applies to all VS2.5 transmitters with three (3) UG69* Power Supply Modules
and an NAPS43* Power Distribution PWB (NARF66F and NARF66F/01 or earlier, NARF66G,
NARF66H). Once upgraded the VS2.5 transmitter will require VS SW 5.3.2 or later.

NOTE
To facilitate the modification, Nautel recommends you confirm that your software version is
complaint with the requirement in paragraph 1.2, or that you contact Nautel
(support@nautel.com) in advance to ensure you have the necessary files and instructions.

1.3 Responsibility for Implementation of Procedure
This modification is written for qualified transmitter maintenance personnel who are familiar
with the VS2.5 transmitter.

1.4 Scheduling
Implement this modification at the convenience of station maintenance personnel. The
transmitter must be off-air (RF off) during this procedure.

1.5 Manpower Requirements
This procedure requires approximately three (3) hours to complete. Nautel recommends that
two (2) people be used to move the transmitter to a suitable work bench, when instructed.

1.6 Tools, Test Equipment and Documentation

Standard # 1 and # 2 Phillips screwdrivers

5-mm nut driver

5.5-mm nut driver

6-mm nut driver

Nautel Part # HAS78 push lever removal tool (in the transmitter’s ancillary kit)
Slip-jaw pliers (4 - 6 inch)

Torque screwdriver (capable of 20 inch-pounds)

Side cutters

Isopropy! alcohol

VS2.5 Troubleshooting Manual (PDF on USB or printed copy)

1IS22001 document (see http://www3.nautel.com/pub/VS_Series/VS_SW_5.3.2/)

nautel

VS2.5 (3 PS): Replacing UG69* and NAPS43*with UG132 and NAPS58A Page 1
FM22007 Issue 1.1


mailto:support@nautel.com
http://www3.nautel.com/pub/VS_Series/VS_SW_5.3.2/

1.7 Material Required
The parts required for this modification are contained in the provided Field Modification Kit
(Nautel Part # 211-5113, see Table 1).

Table 1: Field Mod Kit, VS2.5 (3 PS), UG69 to UG132 Upgrade (Nautel Part # 211-5113)

Item Qty | Component | Part #/Description

2 1 211-5161 QR Code Sheet

3 1 211-5318 Power Supply Mounting Deck

4 2 uUG132 Power Supply, 18-53Vdc, 47A, 2250W/1200W, 90-265Vac, CC
5 1 NAPS58A Power Supply Distribution PWB, VS2.5 (UG132)

6 0 - Not Used

7 1 211-5314 Front Support Bracket Assy w/Foam, VS2.5

8 2 211-5315 Rear Support Bracket Assy w/Foam, VS2.5

9 5 HT77 Tyrap, 0.098 W x 3.9 Ig, Black, Heat Stabilized, 115C
10 5 HAC61 Tyrap, Mount, Snap, .187" Hole

11 2 HT79 Tyrap .190W x 7.4 Ig, Black, Heat Stabilized, 115C
12 1 211-5317 Hardware Kit, VS2.5 UG132 Upgrade

NOTE
The Field Modification Kit (Nautel Part # 211-5113) contains replacement tyraps and tyrap
mounts to allow re-dressing of wires. Use as directed and as desired.

The Hardware Kit (Nautel Part # 211-5317) contains hardware that is referenced throughout
this procedure. Additional hardware is provided; some may not be required.

1.8 Publications Affected

Two of the three Power Supply Modules (U1 and U3) have been changed from Nautel Part #
UG69* to UG132. The middle Power Supply Module (U2) is no longer required. The Power
Supply Distribution PWB (A2) has been changed from Nautel Part # NAPS43* to NAPS58A.
Note the following changes that affect the technical documentation:

Operations and Maintenance Manual:
e Section 1 — Description
» Ac-Dc Power Stage paragraph:
» Power Supply Modules paragraph: Output voltage range changes from ‘between 7
and 53 V’ to ‘between 18 and 53 V'
» Figure 1.1 Block Diagram: PA Power Supply output changes to +18-53 VDC

e Section 2 — Operating
» Figure 2.55 (PA Volts screen and supporting text): Output voltage range changes from 6 to
53Vto18to 53V

Troubleshooting Manual:
e Section 3 — Parts Lists, Family VS Family Tree (Figure 3.1):
» NAPS43* part number reference in the A2 block changes to NAPS58A.
» UGB9* part number references in the U1 and U3 blocks change to UG132.

nautel

Page 2 VS2.5 (3 PS): Replacing UG69* and NAPS43*with UG132 and NAPS58A
Issue 1.1 FM22007



nautel

e Section 5 — Electrical Schematics:
» In Table 5-1, the NAPS43* references for SD-4 and SD-5 change to NAPS58A.
» Electrical schematic SD-1: note that Power Supply Module U2 is not used.
» Electrical Schematics SD-4 and SD-5 change to the schematics (SD-4, SD-5,
SD-5A and SD-5B) attached to this document.

e Section 6 — Mechanical Drawings:
» In Table 6-1, the NAPS43A and /01 reference for MD-4 changes to NAPS58A.
» Mechanical Drawing MD-4 changes to the MD-4 drawing attached to this

document.

The front panel interface for each Power Supply Module differs as shown in Table 2.

Table 2: Power Supply Module Interface — UG69* (old) Versus UG132 (new)

FRONT PANEL ITEM

UG69* (OLD PS MODULE)

UG132 (NEW PS MODULE)

AC OK LED LED is green when the supply’s LED is green when the supply’s ac
ac input is greater than 175 V ac. | input is greater than 175V ac. LED is
e LED is off when the supply’s ac off when the supply’s ac input is less
input is less than 175 V ac. than 90 V ac.
DC OK LED LED is green when the supply’s Same operation as UG69*.
dc output is within operational
mmm limits. LED is off when the
supply’s output is outside
operational limits or inhibited.
SERVICE LED Not applicable Power Supply Module is experiencing
* a thermal alarm (5 °C before
shutdown) or thermal shutdown
condition.
FAULT LED Not applicable Power Supply Module is experiencing

an internal/communication fault such
as: thermal shutdown or defective fan,
blown Ac fuse or over-voltage
shutdown.

1.9 Identification of Modified Assemblies/Parts

Identifying modified assemblies informs future maintainers of the current configuration. Mark
the transmitter with “FM22007” next to the serial number label using indelible ink to indicate it

has been modified.

VS2.5 (3 PS): Replacing UG69* and NAPS43*with UG132 and NAPS58A

FM22007

Page 3
Issue 1.1



2 UG69* POWER SUPPLY MODULE/NAPS43* POWER SUPPLY
DISTRIBUTION PWB REMOVAL

(a) Set the transmitter to an RF off state.
(b) Switch off ac power to the transmitter using the switch on the rear panel of the transmitter.

(c) Unplug all connections from the transmitter, remove the transmitter from its cabinet and
place the transmitter on a suitable workbench.

Refer to Figure 1 and Mechanical Drawings MD-1 and MD-4 in Section 6 of the VS2.5’s
Troubleshooting Manual for reference.

NOTE
The NAPES8T* Exciter/Control PWB and associated exciter deck need to be temporarily
removed to access/replace the Power Supply Distribution PWB.

Partial top view, cover removed for clarity

EXCITER DECK SECURING
M4 SCREWS (Qty 5)

[
IERNERN
NAPS43* PS DISTRIBUTION / O

PWB (A2) (partial view) ° °
\ NAPES87* EXCITER/
— CONTROL PWB (A1)
UG69* POWER SUPPLY
MODULES (U1/U2/U3)

POWER SUPPLY

VA
o

MOUNTING DECK N RIBBON CABLE
(UNDER MODULES) FERRITE
) ) )
SECURING ° olle o]l e o
BRACKET
+48 V PS BRACKET : +48 V PS BRACKET
M3 SCREWS (Qty 2) . =" M4 SCREWS (Qty 2)

(pillars below bracket)

O M2110142 V1 @(\O l) (\O l) @ o
= —_J

! .

Figure 1: VS2.5 Top View with NAPS43 and UG69s

nautel

Page 4 VS2.5 (3 PS): Replacing UG69* and NAPS43*with UG132 and NAPS58A
Issue 1.1 FM22007



nautel

2.1 Power Supply Module and Exciter/Control PWB Removal

(a)
(b)

(c)

Remove the VS2.5’s top cover and retain hardware.

Remove the securing bracket from the front of the Power Supply Modules (U1 to U3) by
removing the two (2) M3 screws in the top of the bracket (see Figure 1) and the two (2)
M4 countersunk screws in each side of the transmitter chassis. Discard bracket and
retain hardware.

Slide the Power Supply Modules toward the front of the transmitter to disengage them
from their mating connectors.

Remove the Power Supply Modules from the transmitter. If desired, retain any functional
Power Supply Modules as spares for other transmitters that use UG69* modules. Discard
defective Power Supply Modules as per local electronics waste management policies (if
applicable).

CAUTION!

The Exciter/Control PWB s static sensitive. Handle it in a static protected manner.

(e)

Remove and retain the Exciter/Control PWB (A1), following the steps outlined in
Section 1 of the VS2.5 Troubleshooting Manual. If an Orban Inside card is installed on
the Exciter/Control PWB, it can remain secured to the Exciter/Control PWB.

Remove and retain the five M4 screws that secure the Exciter Deck (see Figure 1).

Before removing the Exciter Deck, ensure that the exciter wiring and associated items
are clear of the Power Supply Distribution PWB and Exciter Deck, cutting tyraps if
necessary. Cut the tyrap around the Ribbon Cable Ferrite (see Figure 1) to move the
ribbon cables clear of the Exciter Deck and be careful in the following step not to damage
the ferrite. Cut the adhesive tape that secures the Ribbon Cable Ferrite bracket to the
Exciter Deck. Retain the adhesive tape for re-installation.

Pull the deck up and forward, and pop out all tyrap anchors, using pliers to pinch the back
side of the anchors and push out the hole. Note their locations and orientation for re-
installation. Retain the exciter deck for re-installation. Replacement tyrap anchors (Nautel
Part # HACG61) are provided in the Field Modification Kit if any are damaged.

2.2 Power Supply Distribution PWB and Mounting Deck Removal

(a)

(b)

Disconnect ribbon cables W2P2 and W4P2 and MTA connectors P7 and P8 from the
Power Supply Distribution PWB (A2).

Remove and retain the cover over terminal blocks TB1 and TB2. It is secured with two
M3 screws.

Identify and record the 17 wires (# 7 through 14 and 25 through 33) connected to
terminal blocks TB1 through TB4 and note their specific mating points. Remove these
wires. Note that wiring destinations are also listed in Table 4.3, Wiring List — VS2.5
Transmitter of the Troubleshooting Manual.

Remove the hardware that secures the Power Supply Distribution PWB to the
transmitter, using a 5.5-mm nut driver for ten M3 nuts, split and flat washers, and a
6-mm nut driver for two pillars near TB1 and TB2. Remove the Power Supply
Distribution PWB. If desired, retain the PWB as a spare for other VS2.5 transmitters that
use this PWB. Retain hardware for re-installation.

VS2.5 (3 PS): Replacing UG69* and NAPS43*with UG132 and NAPS58A Page 5

FM22007

Issue 1.1



(e)

()

(9)

(h)

3

Remove the 12 M3 countersunk screws that secure the Power Supply Mounting Deck to
the transmitter chassis (see Figure 1 to locate the Power Supply Mounting Deck and see
Figure 3 for securing hardware location). Retain hardware for re-installation.

See Figure 1. Remove and retain the two M3 screws securing the +48 V Power Supply
Mounting Bracket to the Power Supply Mounting Deck. Remove and retain the two
countersunk M4 screws securing the +48 VV Power Mounting Bracket, from just above
the front panel, and carefully reposition the +48V PS Mounting Bracket to allow access
to the two (2) pillars under the M3 screws. Take care to ensure the +48 V Power
Supply’s wiring is not damaged.

Use a 6-mm nut driver to remove the two (2) pillars accessed in step (f). Retain pillars for
re-installation. Remove and discard the M3 star washers under the pillars.

Carefully remove the Power Supply Mounting Deck from the transmitter. Before
discarding the Power Supply Mounting Deck, remove and retain 12 pillars and flat
washers from the mounting studs and the chafe rail along the rear edge. Leave the
+48 V Power Mounting Bracket disconnected to allow installation of the new Power
Supply Mounting Deck in section 3.

UG132 POWER SUPPLY MODULE/NAPS58A POWER SUPPLY

DISTRIBUTION PWB INSTALLATION
Refer to Figures 2, 3 and the attached Mechanical Drawing MD-4 for reference.

Power Supply Modules Exciter/Control PWB and
and Securing Brackets Exciter Deck

PS Distribution PWB

Figure 2: Orientation of Installed Items - Exploded View

nautel

Page 6 VS2.5 (3 PS): Replacing UG69* and NAPS43*with UG132 and NAPS58A
Issue 1.1 FM22007



3.1 Mounting Deck and Power Supply Distribution PWB Installation

CAUTION!
The Power Supply Distribution PWB is static sensitive. Handle it in a static protected manner.

(a) Obtain the Power Supply Distribution PWB (Nautel Part # NAPS58A) and Power Supply
Mounting Deck (Nautel Part # 211-5318) from the Field Modification Kit.

(b) Install 11 of the 12 pillars and washers retained in step 2.2 (h) in the PS Distribution
Mounting Pillars positions shown in Figure 3. Install the chafe rail on the rear side edge.

(c) While ensuring that all wires removed in step 2.2 (c) are clear of the deck area, install
the Power Supply Mounting Deck to the transmitter chassis using the 12 M3
countersunk screws retained in step 2.2 (e). See Figure 3 for mounting locations for both
scenarios.

(d) Install the Power Supply Distribution PWB on its 11 mounting pillars (see Figures 2
and 3). Use hardware retained in step 2.2 (d) to secure the PWB (not all hardware is
reused), using a 5.5-mm nut driver for nine M3 nuts, split and flat washers, and a 6-mm
nut driver for two pillars near TB1 and TB2.

(e) Connect ribbon cable plugs W2P2 and W4P2 and MTA connectors P7 and P8 to the
Power Supply Distribution PWB.

TO REAR SIDE OF TRANSMITTER

T ——
I o 0 > 1 PS DISTRIBUTION
MOUNTING PILLARS
@ty 11)
— \ . —
.0 [®) o |
< SPACER PLATES
MOUNTING . .
HOLES (Qty 12) | o ) @/// (Qty 2, included with deck)
.0 [©) o |
+48 V PS MOUNTING
PILLARS AND M3 STAR
— WASHERS (Qty 2
=
Py /
1l ) = =) CE |

Figure 3: New Power Supply Mounting Deck

‘nautel

VS2.5 (3 PS): Replacing UG69* and NAPS43*with UG132 and NAPS58A Page 7
FM22007 Issue 1.1



(f) Connect the 17 wires (# 7 through 14 and 25 through 33) removed in step 2.2 (b) to
terminal blocks TB1 through TB4 of the Power Supply Distribution PWB. Refer to Table
4.3, Wiring List — VS2.5 Transmitter of the Troubleshooting Manual for wiring details.

e Torque connections on TB1, TB3 and TB4 to 20 in-lbs (2.24 N-m).
e Torque connections on TB2 to 6 in-lbs (0.67 N-m).

(g) Re-install the cover over TB1 and TB2 using retained M3 screws.

(h) Use a 6-mm nut driver to re-install the pillars retained in step 2.2 (g) on the Power
Supply Mounting Deck, on top of new M3 star washers (Nautel Part # HMW10) from the
Hardware Kit. See Figure 3 for +48 V Power Supply mounting pillar locations.

3.2 Exciter/Control PWB Re-Installation

(a) While ensuring that exciter wiring, ribbon cable ferrite, and associated items are clear, re-
install the exciter deck retained in step 2.1 (h) in the transmitter, by pushing it backward
and down. Use five screws retained in 2.1 (f) to secure the exciter deck to the transmitter
chassis (see Figure 1). Re-insert tyrap anchors in their original locations, noting there are
additional tyrap anchors (Nautel Part # HACG61) in the Field Modification Kit.

(b) Secure the Ribbon Cable Ferrite with a replacement tyrap, using Nautel Part # HT31 from
the Field Modification Kit.

CAUTION!
The Exciter/Control PWB is static sensitive. Handle it in a static protected manner.

(c) Re-install the Exciter/Control PWB (A1, Nautel Part # NAPE87*), following the steps
outlined in Section 1 of the VS2.5 Troubleshooting Manual. See Figure 1 for location and
orientation. If an Orban Inside card is installed on the Exciter/Control PWB, it can remain
secured to the Exciter/Control PWB during installation.

3.3 Power Supply Module Installation

(a) Obtain the two Power Supply Modules (Nautel part # UG132), Front Support Bracket
(Nautel Part # 211-5314), two Rear Support Brackets (Nautel Part # 211-5315), and the
Hardware Kit (Nautel Part # 211-5317) from the Field Modification Kit.

NOTE
When inserting Power Supply Modules, ensure the latch is in the closed/ locked position.

(b) Install the new Power Supply Modules in the U1 and U3 positions of the transmitter (the
middle position, U2, is no longer used) and slide them toward the rear of the transmitter
to engage them with their mating connectors. The Power Supply Modules should be
resting on their respective Spacer Plates (see Figure 3) when correctly positioned.

(c) Install the Front Support Bracket on the front of the Power Supply Modules using the
four M4 screws removed in Step 2.1 (b). The bracket is secured with two screws on
each side of the transmitter. See Figure 4.

(d) Install the two (2) Rear Support Brackets on the rear of the Power Supply Modules using
the four (4) sets of M3 nuts and washers (Nautel Part #s HMN02, HMWO02 and

HMW32), found in the Hardware Kit. See Figure 4. ﬁautel
Page 8 VS2.5 (3 PS): Replacing UG69* and NAPS43*with UG132 and NAPS58A

Issue 1.1 FM22007



(e) Move the +48 V Power Supply Bracket and its wiring to its original position Secure the
+48 V Power Supply Bracket using the hardware [two (2) countersunk M4 screws and
two (2) M3 screws] retained in step 2.2 (e). Install the M4 screws just above the front
panel. Install the M3 screws on the pillars installed in step 3.1 (h).

(f) Use provided tyraps, as required, to secure wiring.

(g) Install the VS2.5’s top cover using hardware retained in step 2.1 (a).

(h) Upgrade the software of the VS2.5 transmitter to VS SW 5.3.2. Refer to the VS2.5
Operations and Maintenance manual for instructions.

(i) Obtain Information Sheet 1S22001 and follow the procedure to initiate an exciter
attenuation routine.

() The modification is complete. Return the transmitter to proper operation.

[ [ co0)
NAPS58A PS DISTRIBUTION PWB (A2) it . - '
(partial view) ’ §' i
nnnOunn o e e s o o
[} e o
)
/ = ”©|
-/
REAR SUPPORT BRACKETS (211-5315)
(2 locations)
(-]
N »
UG132 POWER SUPPLY MODULE (U1/U3)

FRONT SUPPORT BRACKET (211-5314)

;'/
I

+48 V POWER SUPPLY BRACKET

H Top view, cover removed for clarity H

Figure 4: VS2.5 Top View with new PS Distribution PWB and Power Supply Modules

nautel

VS2.5 (3 PS): Replacing UG69* and NAPS43*with UG132 and NAPS58A Page 9
FM22007 Issue 1.1



If you have any questions or require additional assistance, please contact
Nautel’s Customer Service Department at:

Telephone:1-877-662-8835
Email: support@nautel.com

nautel

Page 10 VS2.5 (3 PS): Replacing UG69* and NAPS43*with UG132 and NAPS58A
Issue 1.1 FM22007



nautel

pg y-—J140 WA~ 1) patve
p5 o L14C R125 ©
0.062
I {2} PARV+
c1g Bl
Aoz L
mii el o 3] Paav+
PSA 1oy 1 R1a1a ﬂ
i - 43 PA4VH
Rite A b Lows Lo lg111s g
1148 50 T1th1buvauvT1buv
P4 . . . . . . 1| v
p7 o J1AE
[ 2] pazw
P4 x | PA4 CUR [ 3] pasw
P27
itf c129 g 14] pasw
c1a0 L Y
[33] a1 0.01 e+ oS
Tww T‘“W Loy la Rio LR L
PED J3AC o o . TU.CH uzsl L a5k 218 1 1o
pg »—434D 4 8l MAG0BISASA gl o fT0 T 1AW $zsv
+5V-A|—l——2 e [l
o £113 ekt
ISHARE(PSA) C2 6.01 "
Psn o2>—= gsuv v
- PA3CUR
ISHARE (PSB) 02 >— P26
Al
Lrs+ arl® ¥ 19
1 Cl118 . RI0B LAl | C108 100
To uza| nef2 o W20 ST 01 iow
v | mwmossasa oo fa | Yiw oW 325\' T
+5V-A|—l——z vee w2
g el
PART OF
gsw v 15V i
PA 2 CUR
TR 5B
801 il
TSV & pe. MAGIOBISASA
+5v4\|—l—iwc
. PART OF P22
$5w U4l )
TLEAS43DW MMTRTYPE
i
- 1 +4.088V | —Ana— 12_xia
Yom | Roe ing7 L ct
a.01 uzol 10,0k 100K 7 0.1
T s ps. MAXADBISASA e 1IN0 4 sov
2
s e
o110 DENGOTES TB1
1y O
O DENGTES TB2
Yorr yors & f UTeE 1
UV | B S +5V-A Vo & DENGTES TB3
S . mr'-“s“ 5 P TLVEFTAID
R81  LRHM [ 100 .
T ik $4750 X8 1w i
15 }TUSHEEI'Z w1 o $25V
M0l 204 J7T LT — o Pl . n‘tﬁaarém a1
ok 174 )i 18|y g g
#ADCICS- | LUTA % I gaw
¥mokm oy
8 ,J7H {7 +8V-A Aty remsea.0e VOUT
g 8913 GNDY GND2
10, . $E'DV 1 2
1 +Wﬂ‘)—_|‘_—— Ll L2 pre.ame cur
)
12 gguu\} 5 aan
15, 3 R o [19
Utel
18 +4w}—@ 1 1 Lns wagoensasn g, [a | il e |
18 She2 ] .
mero | v T35 M
18 8 7
RS- e para_our |16 78 5 2 psg apc
3 i sre
<! . 175+
14 JIN N\t T
b Fl ZRos cH T
7A 0015 Tn.m ual EOG—
W S5V Blh  MAMOBIZASA
+5v4\l—l——’wc
£
6.01
l;mv

211-7254-01-8CHOY lss. A

@ IFAY

i PR o JBE S 8

Lces LcH L19 JBl s 9

K| PRE-AMP V
1ow$1ow ] J8J 510

Electrical Schematic - NAPS58A Power Supply Distribution PWB

FM22007 — Manual Replacement Page

Not to Scale

Figure SD-4

Page 1 of 4




nautel

FROM SHEET 1 | s¢K

MISO 185
#1500 T LUTE o
oRt
24V
+§r_-A +_5\%—A +5V-A HBVA HIVA +IVA +5VA
P8 LRa6 Lmas Lpad imse Llmen Lmst LRse
7 215 30 3 e 2 o D
#PS A PRESENT - A5 >1E ! T
o0
1w
P8
& aca
1 - o
#PSAAGFAL » Wiy u10Q
o MC74HC1BSAD
11w s,
M
‘.f TMP A
FROM SHEET3 < [spsatemrs>—o A LI
7 [
100 1si
CLE_IN
ws o 12 e
™8 Aga
FAILA 00
#PSARAIL- I S 12_{g
g
1w
A Ol s
R0 Llpg Loi Loy Loss Lesg osr Lese
o 0.01 R01 AO.01 GO R0 FRD01 NG 0 _|g
50V LS50 LSOV LSOV | 50V | 5OV L SOV
SHFTADAD ml—"
I
F5V-A HBVA HBVA HBVA HBVA LA HBVA +5V-A
B B B B B = = = 16
B C T LT el g o v
P10 ~P48 LR40 LR47 ARSD LRE3 ARAB4 LRSS ALREG 0.1
S ure $121K $10.0€ $10.0¢ S10.0¢ 100K 3 10.0¢ 2 10.0¢ T 10.0¢ 95
- Y TOWS 10w 1AW T 171083 110w 17iOWS 17108 T 110w .
# PS BPRESENT - A5 > . A 8y
e
FANTAGH? 1 €44 W 1 N2 5 e
P8 CR1 1 V
‘.f ACB 100
FROM SHEET 3 [#PSBAGFAL>—# WAL 4
4 ung
o s MCT4HC1B5AD
FANTACHZ 1 &I%A —_ -+ ‘vJv‘vz LDoL*“—uE
CR2
L J
™P B 100
[#PaBTEMP: I Ak L w7
RT1 2
1w s
Be O A 1w |, @0
FROM SHEET 3 rr2 w2
15
CLE_IMH
18 1w g
‘.f FAILB
#FSHRAIL- * AN 12_lg
R73
1w
UsA O—e oy 1y
Ri48 RM  _LC45 L 046 L C44 L C47 LG58 1 CBO0 _LCBI _LCB2
.0 100 .01 71 8.01 NO01 70,01 7p 081 /NO.01 70,01 7 0.8
i L sV 5w$5w $5w gsw $5w gsw 50¥
12
15 2 % s
i uizs wnl 7
VA mas ™ moraHciaans - 8, o40
gg';v 37 AT T e Jow
d 1
gzs\r 8 |an L] -O U8
é 2 n e 10
ac o & PS5 B INHET
FROM SHEET 1 [ hiosi LY U130 RS | £Eg
MCTAHES05AD i
§ £J7F 12 001
#5505- " € LATCH_BLK 110w | sav
# 595 RESET - | T8 i wl? © UsD
b
& o w—t *—O UBE
2l Lims2 LRs¢ LAy imss Lmsa
2100 2 10.0¢ 2 10.0¢ 2 10.0% 3 10,0
& s ‘>1f1m€7v1uw€71;1uw€7u1uw 1riow

211-7254-01-3CHOZ Is9. A

TO SHEET 3

Electrical Schematic - NAPS58A Power Supply Distribution PWB

FM22007 — Manual Replacement Page Not to Scale Figure SD-5 Page 2 of 4




nautel

‘3#5
$
+3w4|—l—l—t' e oz 2 ra ALt Jriow IH g2 (4 ANA— el
7 LB [ 10ie fr T 11 T — 3 e o
v T 25v 256.2 L SERIAL
I T i \ Lits ¢y ([ B
+aavA v e Lrcidsose o5 RS PaA
cad | c29 01 2h62 12 12
81 =61 L®me +23VA L v T b u H 1
e e 1g o v o o]l
mm%z’hm pag| 4% $25V \R8
8 Paa| 4 ¥ ow
BHD -
18| e pas|L AN E 10] |_-«M,_?__“’
» a2 u S 2 HANATY R 7 Uzs, b
" : el +aw—n|—l——ﬁa W ramcizonx 0 2 A1 o
peof12 $2'5V
A} R141
i - P 0.0
" pesHE “ \8E 2
g"ﬂf OO % resnte Pusf 18 A o % otz 0
R K]
p FRO PL7| - $25V
3 428 10F o VA
oo $5W ma—o T
¢ eJEF_ 5 |7 Fe1 B 4 UGE snp |1 1:?71520
X :JEA ® e e e & TWETAE % |—1—1—E’ o rom/Pozl 2 1ro YL 31w 430 g
: J2B ™ = & e 31145 g1133 18 fvee mopost 2 4fp ghis & “ :Esgls:L
DT oV | eV poo| 22 2l 98 5 Lzsdan BUS
8 u24l e AZ ()| pgp
+2.3v-a TR T i b Sloe LToia80sa pleashize
. 0 AN B {avee +AWB Elver gm“ )
VA 5ig (™ Lriremise-2s PAORREF 325" @25" uz7as i ol
8 TiTatHIe 2 ATAmegsizRAU-AU g n s
$25v 1 2 ros| B LI | PEATEMPD > TO SHEET 2 o 2 3410
J] J] L > 18|z i 1 viow
P2 yaTRL To| UEC Fagld2 v
] m
3 ® o M=
A , =
L8 | grs | Losg A8 iR 7] UBA 1 g ann 41 pa1moe -3 5 ] pher L
0.61 o.001j5.06 3 10.0¢ lm 2|_ Rog | C28 A el {ersamLy v - aslZ e U31E a0t
Taw | T sov'iiow  viok T ., $%51v Al — P P revictasm 0|
$ég§f :ﬂa%_;vsamz rea 12 $2'5V
k] 14
PS$ ATEMP H—"‘“ o=
e ?é;? res 12 LAOE
Ri4 3 16 LI [F.13 e
o 100K 4 LD $5W resf18 +5vA |_l__°'55 TAVHC125MX
FROM SHEET 2 FEQ — il PROGRANY i = pe7| 12 0.1 3;
™5 TR7 pmug | 5 € 2 {RESETADI o ’vr25v
s 4 ™ 3|y 70
. " INTERFACE | 1 &I mla_o
12 7 PSR | 2 CIB iaavs g2 pe1 | 2 4 UZ9E 1
o2 5 8F L) 35V ™ +3.3V-B Auld GHD
18} pog i P ES 81154 TLVZaT4ID
wwap S8 SR LAN ihL Frar @Elsv
00 I +sv4\}—1——‘ W uB gy|e GV 40 | ergimner
¥ & [ZE7 LT1790BIS6-2.5 | G134 | cud
o1 T 01 10 M 2 3
$25v iasv ‘ge.w o4 [ersBACrALy
"J’ 1 u3tA
o - - El
1 o poa{ 2 I #FSETENF > > TOSHEET 2
j ~Tuatc
™z $
Traava ol B 8,0 [erasm;
0.0K A uaie
+5V-A
FE¢
FROM SHEET 2 o5 BTENP
R131
= i
12 {pen nag/Pez| & /
181 pcs rood
HWBID 3050 S0k 3 hok | Rize
iriow $1on ) 1w
v v R132 3 A130 =
0.0 200 .
BOK
8 2D B VERSION
TP
12 12 U12F L
43308
L 128
uzs it
21 ar 4 Pa—
A e Lot Tome™ || PRI T T g 1RV
. > 10,08
sy Teav sV
211-725-01-SCHOB s, A $ $ D s jvow
L R128
2 2210
vmcw
Electrical Schematic - NAPS58A Power Supply Distribution PWB
FM22007 — Manual Replacement Page Not to Scale Figure SD-5A Page 3 of 4




nautel

Y ¢p

LINE 1 @ 1 LNE1(PSA}
o 'p1 nE1SBY
LnEomeTRAL (3) M2 ¢ b |INES/NELTRAL [PS A)
o W ¢£pp  LINEINEUTRAL PS B # FAN BABLE + 2 68 e
1w
AGERD @ » JIBA #pg  GNIYEARTH
% ..ﬁﬁ;(pa
W
+oVIREFEND M4 > A
A A1 UNITADDR
+BV(RE VD B )—4:3 B
pgad ¥ LOWPWRCAPACITY - Ds)—'!1K Erle)
# OVER TEMP WARNING - B5 > A
# FOWER FAL WARNING - 24 D410 Ll
# RECTIFERFAUT- 05 >-4TW VIW T oo geson-
c I8 01 sHELF ADDR
e JIM_¢ o1 pROTOCOL (RS4ES) -
W L ¢ea AT #1
VW I gy T PSA
NE ¢ ap scLo
YL ¢B oLt
Y8 ¢c3 meser
R _¢os span
“x—(ns SDA 1
B ¢4 @ op ENABLE -
1€ ¢ a3 106 END
..—B—<c5 MARGINNG
Jav
+5V(REFGND) D4 > JaA
A Al
+VREVE Bl >_3G 4 12 (A1 UNITADDR
Jau 3.
pgpd ¥ LW PWRCAPAGITY - Da>_ax Tiow
# OVER TEMP WARNING - 85 >4 e
# POWER FAIL WARNING - A4 H—4%D Bk
) Jaw Tiow
# RECTIFIERFALLT - D5 > 9T g2 #PSON-
. 38 ¢p1 sHELFADDR
——w—IM_¢ 51 ppgracoL (Redss) -
) Y8 ¢ B3 ALEAT #1 .
VW 3 epy a0
BE ¢ a5 scLo
YA _¢Bg soLt
438 _¢e3 ReseT
438 ¢ og spao
128 ¢pe spat
432 ¢t4 # oF ENABLE -
43¢ ¢ a3 LogIc gD
433 05 MARGINNG
P4
[
HEV
T —
10K, r{ﬂw —
v {1 Q . o = ~ ~ ~ ~ ~ ~ ~ LI
14 | | R43 | cag | 48 el L) I 85 I o4 1 L30 1 C150 [ OB | o4 | G141 | G142 | C140 | 0139 . 288
1 10uH 10 o017 10 10 =10 1.0 _{Thm
] o = B AT8 foov T 1aov T L, T 1oov T 1oov T 10ov T 100w 2 ER
15 100V . 100V L 190V Fm_‘ 10 RXE110 10 V-
. R W
94 cB DSz 1 oim T om o L
1) A 1.0 E1% 01
9 v gmw gmwgmw
L7
—LLB TP3 TP21 TRZB 4 o kad
La7 105 | GIod4 oo L 6100 1 Gipi U196
1uH 1.0 o1 51 LM onasnantz
B $1uw$1aw$mwme’l‘mw’l‘wamW 2 |
3 |=
SN0 BND GND o 1 o
1.0 b 0.01
$ o $1'uw $1ow
@_m 1 e
& 1% 1w Lo 1n 1e 1 1n o ot
AT 10ov ‘T 1a0v Toow T Toow ™ loow T loow 2 CCR148-155
211-7254-01-SCHO4 [ss, A RAE11DR g
. . "
v 3 v €2
la I la
$ v $1hw $1aw

FANV()

FANV(+)

FAN 2V {+)
FANZV{)

E,%) 1 ! ¢ BLLIN
3 FANTY{(+)
C6g
car o L1 J4B FAN1Y{)

2-2

L15
Q JBC s, 8
& +5VA
L1 JED \ 4
JBEN S

+v8

+15v

Electrical Schematic - NAPS58A Power Supply Distribution PWB

FM22007 — Manual Replacement Page

Page 4 of 4




O

211-7254-01-MCH01 Iss. A

nautel

[ [T I Il [ T ] [ Il 1Nl [T [ [ Il Nl Il
o [EHEEEHE4 O w0 5= 5 O |FEHEesEgEHl O == =m=l=mn==m=1Ne) = O
cao[ ]
= ~ . ci14 +
0YLPYL = = T @)ook |[@)e|e|@ =8 x
@ @ @ @ . TB2 o - - 1 1 g C110 E I:IFl11
o o By LINE1 LINE2N GND | GRD .p.%\; sadviN |7 0 8 Lo ces[ OL10 crro OL28 I i S A i S I u2s Ime
o 2 z Jc. cAUTIONI HlGHVOLTA?;iOUTPUT O5goooof] cer s 4 3 1B3 2 1p25 - 4 3 TB4 2 T c19[] P S e
(LUNE1 LNE2N  GND TET NC SR TP7 (o)+2.6v-A e 02 — Pa1CUR@ o O D G159
o 11 ] o J2 el [Jees TP2 18 C7T3 CR4 @ CB5 C86 cur 06108 - ci40[] +]
cofig Tl cwbst nmannQn ®5 o 3 R TG Dy VCTRL oo O 286 no-gg = oCWZDFAzTPUZE opios =cie [J| S| [ £ 80|80 c1a1[] ! c157
el (N - b =
Mom] _ ow R BERE T 3o s DSz B [Clces - oo 00, pe=2n 80 ® =8 E a|x|lgq|lx g |Z|g “gl:lm[l = @
CFUASK Zhra LI, oo 3% C5 00 OOmrA guoooooooow™) g g BopER > e T S nae ] o 5 5 cuz[ 13 B| N
RM )wis cras E oo Nieo G35 TRz X8 O B moooooooon R87_° o008 0 20 oRios_ G117 RSB P35 QTR
£S5 cru3 us E . R2D ~ 00 F= o0 Oreg — — Fooo 800, Q RIOT _ TPBoE [ O :
ut @ PATENP DRI S E 20 Fle EEIg 32 300?}5& CB1 Ro70 0 [ICETTRzy - PAS SR ity ctzoypnOonn® G4 5o Ale
o o 5 - B2 w4086V TP27 3
R10D () :.Em T P2 33 §EI Jppg@ggg = EDE’D OT'?'MPB @ %Eﬁ%‘ Réaﬂégigr%wm PAICUR®ER111 w© +3.3VB DSSC GF IY:2| o RE:" o
1 = 085 R8BS 7 c109 N TP it
521: RI:1'1(CDTP17 A" & 3.3V Cé'a R34 TPY Ew gsozn:- %D%%@wm cesc oc7s ce2 éﬂ H-CRB rulO) PsBTEan'-?ERmE”L“”mmE cE! EE ©
mu @TPZQID @ REQO AMBE O3 d- R84 ©Tpqg L3080 ocre CIL24 R890 DGBT €851 E=8n oS U7 EC152C154 Eu
615 —=E0 0] 8 3vET e ST E SE8OD FAILB MOS0 Ot 08  1p@oces RS cos] uzs =8 D”% TP s = 20
I:l I:l D D D D D U4 :.:u’gl:l 0 Ga1 L DgPB@ Rag = EDREERTS Qa‘ll OR77 L1503 gl:l OL22 L% PRE-EHR Eéﬁ CQ?I:I D83 =5 = C131 g:ggg h TITTTTTTTT - o J° 0ciss
59 % ok =08 & i u§€_=503=l gug OR74 gzz e ——— 5F oces — o DR113 a0 5 R0 O S N
Qo - ° rozJ1 (_R14_) =
B EI}E.E.”?Szg o ¥ pooooooooo E ute s eI TP
u2] CRZ 218 OB} o ooa — cas css[] ) 20120 02 0G156
0ce CAUTION | ) 5 DR Y o121 Oc124
REPLACE FUSES 00Rs3 o 83 = CGSD
R3 C5 c17 e A RATRG s & ooo[[ fautel ! +[Jc11s @ C123 [Jc129
0 5 00 Ors CJcts RENPLML o FUBBiES Ré;‘g E @2 | ceegq A PS DISTRIBUTION c1o0[] gl ° Orazz Jc130
E TYPEET CALIBRE -]
0 H 0 OR7 e BT R — © o Aiad wresse cio1J J0[] @ 0080 g 0g ORr2e
R4~ R6 —-m SER. a9z 8 ~OF &
=t Ree FEFE rc- 2 E PEB
o n n " n 500 T o1 n n " n
P () J3 (:)

Assembly Drawing - NAPS58A Power Supply Distribution PWB

FM22007 — Manual Replacement Page

Not to Scale

Figure MD-4

Page 1 of 1




	Nautel Limited



